UNIT #1 KINEMATICS



Acceleration

- acceleration = how quickly an object’s velocity changes
over time

= the rate of change of velocity
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straight line on position-time graph = uniform motion
curved line on position-time graph = NON-uniform motion
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Velocity-Time

Graphs
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Velocity-Time Graph
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Velocity-Time Graph
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Velocity-Time Graphs
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Area Under Velocity-Time Graph

r\@%
- distance = how far you have walked (total) 18 A%

- displacement = how far you are from where you
started...requires DIRECTION r)O ™ LE]



Acceleration
]

| SPH3U: Acceleration

Acceleration is the rate of change of velocity (the slope of a velocity-time graph)
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Example: an acceleration of 5 m/s/s (or 5 m/s?) means that the velocity of an object increases by 5 m/s every
second
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Sample Problems

Problems:

1. Car A accelerates from rest (0 m/s) to 27.8 m/s in 16.0 s. Car B takes 8.0 s in the same test. Which car has the

greater average acceleration?
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Sample Problems
|

Kirsten rides her bike up a ramp — at the bottom of the ramp, she is riding at 5.6 m/s. When she reaches the top,
she is traveling at 1.8 m/s. If it takes her 28 s to ride up the ramp, what is her acceleration? (-0.13 m/s?)
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Homework
N
- READ 1.3 if you haven’t already done so
- p- 30 #4-10
- Read 1.4




